
 

1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

 
 

ROAD INSPECTOR IN RURAL DEVELOPMENT AND PANCHAYAT RAJ 
DEPARTMENT IN TAMIL NADU PANCHAYAT DEVELOPMENT ENGINEERING 

SUBORDINATE SERVICE – 07/05/2023 
 

1. In which year 15th Finance Commission established? 
a. 2015 b. 2017 c. 2019  d. 2021 e. Answer not known 
ve;j Mz;L 51tJ epjpf;FO Vw;gLj;jg;gl;lJ? 
a. 2015 b. 2017 c. 2019  d. 2021 e. tpil njhpatpy;iy  
 

2. Components of GST are of  
a. 3 types   b. 2 types   c. 5 types    
d. Multiple types  e. Answer not known 
GSTapd; cs;slf;fk; vd;gJ 
a. 3 tifg;gLk;  b. 2 tifg;gLk;  c. 5 tifg;gLk; 
d. gy tifg;gLk;  e. tpil njhpatpy;iy 
 

3. Self-Help Groups Bank Linked programme (SBLP) started in 
a. 1996 b. 2006 c. 1992  d. 2002 e. Answer not known 
Ra cjtpf; FKf;fs; tq;fp ,izg;G jpl;lk; (SBLP) Muk;gpf;fg;gl;l Mz;L 
a. 1996 b. 2006 c. 1992   d. 2002 e. tpil njhpatpy;iy 

 
4. Match: 

A. Year of Great Divide   1. 2011 
B. Year of Small Divide   2. 1961 
C. Year of Population Explosion  3. 1951 
D. Demographic transition   4. 1921 
 A B  C D 
a.  4 2 3 1 
b.  4 3 1 2 
c.  2 3 1 4 
d.  4 3 2 1 
e. Answer not known 
a. kf;fs; njhif ngUk; gphptpid Mz;L 1. 2011 
b. kf;fs; njhif rpW gpsT Mz;L  2. 1961 
c. kf;fs; njhif ntbg;G Mz;L   3. 1951 
d. kf;fs; njhif khWjy;    4. 1921 
  A B C D 
a.  4 2 3 1 
b.  4 3 1 2 
c.  2 3 1 4 
d.  4 3 2 1 
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e.  tpil njhpatpy;iy 
  

5. Which of the following is incorrectly paried? 
1. Monosomy - 2n – 2  
2. Trisomy  - 2n + 1 
3. Tetrasomy   - 2n + 2 
4. Nullisomy   - 2n + 3 
a. 1 and 2   b. 1 and 3    c. 2 and 4   
d. 1 and 4   e. Answer not known 
fPo;fz;ltw;Ws; vJ rhpaphd ,iday;y. 
1. NkhNdhNrhkp - 2n – 2 
2. biuNrhkp  - 2n + 1 
3. nll;uhNrhkp - 2n + 2 
4. ey;ypNrhkp  - 2n + 3 
a. 1 kw;Wk; 2   b. 1 kw;Wk; 3   c. 2 kw;Wk; 4 
d. 1 kw;Wk; 4   e.  tpil njhpatpy;iy 
 

6. Among the following which is a nitrogenous fertilizer? 
a. Urea   b. Potassium Sulphate  c. Bone ash 
d. Gypsum   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ iel;uIid ngw;Ws;s cuk;? 
a. A+hpah   b.nghl;lhrpak; ry;Ngl;  c. vYk;Gr; rhk;gy; 
d Ipg;rk;  e. tpilj;njhpatpy;iy  

 
7. Aluminium reacts with Sodium hydroxide to give  

a. Sodium Oxide + Alumina + Hydrogen 
b. Sodium Meta Aluminate + Water  
c. Metallic Sodium + Aluminium Hydroxide 
d. Sodium Meta aluminate + Hydrogen 
e. Answer not known 
mYkpdpak; Nrhbak; i`l;uhf;irLld; tpidGhpe;J 
a. Nrhbak; Mf;i]L + mykpdh + i`l;u[d;  
b. Nrhbak; nkl;lh mYkpNdl; + ePh; 
c. cNyhf Nrhbak; + mYkpdpak; i`l;uhf;i]L 
d. Nrhbak; nkl;lh mYkpNdl; + i`l;u[d; 
e. tpil njhpatpy;iy 
 

8. Calculate the velocity of a moving body of mass 5 kg whose linear momentum is 2.5 kg 
ms-1. 
a. 0.2 ms-1   b. 0.7 ms-1   c. 0.5 ms-1  
d. 1.2 ms-1   e. Answer not known 
5 fp.fp epiwAs;s nghUnshd;wpd; Neh;f;Nfhl;L ce;jk; 2.5 fp.fp kPtp-1 vdpy;> mjd; jpir 
Ntfj;ij fzf;fpLf. 
a. 0.2 kPtp-1   b. 0.7 kPtp-1   c. 0.5 kPtp-1  
d. 1.2 kPtp-1    e. tpil njhpatpy;iy 
 

9. An electric heater of resistance 5  is connected to an electric source. If a current of 6 A 
flows through the heater, them find the amount of heat produced in 5 minutes. 
a. 9000 J b. 25000 J c. 54000 J d. 84000 J  e. Answer not known 
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5  kpd;jil nfhz;l kpd; #Nlw;wp xU kpd %yj;Jld; ,izf;fg;gLfpwJ. 6A 
kpd;Ndhl;lkhdJ ,e;j #Nlw;wp topahf gha;fpwJ vdpy; 5 epkplq;fspy; cUthFk; 
ntg;gj;jpd; msit fhz;f. 
a. 9000 J b. 25000 J c. 54000 J d. 84000 J  e. tpil njhpatpy;iy 

  
10. The first batch of Women Military Police was inducted into the Indian army in ________ 

a. April 2021   b. May 2021   c. June 2021  
d. July 2021   e. Answer not known 
,e;jpa ,uhZtj;jpy; Kjd;Kjyhf ngz; ,uhZt NghyPrhh; ve;j Mz;L ________ 
Nrh;f;fg;gl;ldh;.  
a. Vg;uy; 2021   b. Nk 2021   c. [_d; 2021 
d. [_iy 2021  e. tpil njhpatpy;iy 
  

11. The National flower of India, Lotus is botanically known as  
a. Centaurea   b. Nelumbo Nucifera  c. Acaciaa 
d. Lisianthus  e. Answer not known 
,e;jpahtpd; Njrpa kyh;> jhkiu> jhtutpay; hPjpahf _________ vd;W mwpag;gLfpwJ. 
a. nrd;Nlhhpah b. neyk;Ngh epA+rp/guh  c. mfh~pah 
d. iyrpahe;j]; e. tpil njhpatpy;iy 
 

12. In Indian, the political parties are given official recognition by  
a. The President    b. Parliament    
c. Election Commission  d. All Party Parliamentary Committee  
e. Answer not known 
,e;jpahtpy; murpay; fl;rpfSf;F mjpfhug; G+h;tkhf mq;fPfhuk; toq;FtJ 
a. FbauR jiyth;    b. ghuhSkd;wk;  
c. Njh;jy; Mizak;  d. midj;J fl;rp ghuhSkdw; FO  
e. tpil njhpatpy;iy 
 

13. How many members are being nominated by the President to the Rajya Sabha? 
a. 21  b. 12  c. 18  d. 20  e. Answer not known 
khepyq;fsitapy; [dhjpgjpahy; vj;jid cWg;gpdh;fs; epakdk; nra;ag;gLfpd;wdh;? 
a. 21  b. 12  c. 18  d. 20  e. tpil njhpatpy;iy 
 

14. Which is the first metal that prehistoric man has started using for many purposes? 
a. Iron Ore   b. Gold    c. Silver  
d. Copper    e. Answer not known 
tuyhw;wpw;F Ke;ija fhyj;jpNyNa kdpjdhy; fz;Lgpbf;fg;gl;l Kjy; cNyhfk; vJ? 
a. ,Uk;Gj; jhJ  b. jq;fk;   c. nts;sp 
d. jhkpuk;   e. tpil njhpatpy;iy 
 

15. Which states are benefited from Tungabhadra Project? 
a. Andhra Pradesh and Tamil Nadu  b. Andhra Pradesh and Karnataka  
c. Andhra Pradesh and Maharashtra  d. Andhra Pradesh and Odisha 
e. Answer not known 
Jq;fgj;uh jpl;lj;jpypUe;J gadilAk; khepyq;fs; ahit? 
a. Me;jpug; gpuNjrk; kw;Wk; jkpo;ehL  b. Me;jpug; gpuNjrk; kw;Wk; fh;ehlfh 
c. Me;jpug; gpuNjrk; kw;Wk; kfhuh~;buh   d. Me;jpug; gpuNjrk; kw;Wk; xbrh 
e. tpil njhpatpy;iy 
 

16. The Headquarter of Pavan-Hans Helicopter Ltd. is 
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a. Kolkatta   b. Mumbai   c. New Delhi  
d. Chennai   e. Answer not known  
gtd;-`hd;]; thDyq;F Ch;jp (n`ypfhg;lh;) epWtdj;jpd; jiyikaplk; __________ 
MFk;. 
a. nfhy;fj;jh  b. Kk;ig   c. GJnly;yp 
d. nrd;id   e. tpil njhpatpy;iy 
 

17. Match correctly the following Indus Valley Civilization sites with its locations. 
A. Harappa   1. Sindh 
B. Mohenjadaro  2. Gujarath 
C. Kalibangan  3. Punjab 
D. Lothal    4. Rajasthan 
 A B C D 
a.  2 4 1 3 
b.  3 1 4 2 
c.  3 4 2 1 
d.  2 1 4 3 
e. Answer not known 
rpe;J rkntsp ehfhpfj;jpd; jsq;fis mjd; ,Ug;gplj;Jld; rhpahf nghUj;Jf. 
A. `ug;gh   1. rpe;J 
B. nkhn`Q;rjhNuh  2. F[uhj; 
C. fhspgq;fd;  3. gQ;rhg; 
D. Nyhj;jy;   4. uh[];jhd; 

A B C D 
a.  2 4 1 3 
b.  3 1 4 2 
c.  3 4 2 1 
d.  2 1 4 3 
e. tpil njhpatpy;iy 
 

18. Kamran, Askari, Hindal are brothers of 
a. Akbar   b. Humayum   c. Shajahan   
d. Aurangzeb  e. Answer not known 
fhk;uhd;> m];fhhp> `pz;lhy; ahUila rNfhjuh;fs;? 
a. mf;gh;   b. `{kha+d;   c. ~h[fhd; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 
 

19. Which of the following inscriptions describes the victories of Pulakesin II? 
a. Aihole    b. Saranath    c. Sanchi   
d. Junagath    e. Answer not known 
fPo;f;fhz;gdtw;wpy; ,uz;lhk; GypNfrpapd; ntw;wpfis tpthpf;Fk; fy;ntl;L vJ? 
a. ma;Nfhy;   b. rhuehj;   c. rhQ;rp  
d. [_dhfj;   e. tpil njhpatpy;iy 
 

20. The Caucasoid is known as _____________ race.  
a. Asian    b. European     c. African    
d. Australian   e. Answer not known 
fhf;frha;L vd;gth;fs; ________ ,dj;jth;.  
a. Mrpah;fs;   b. INuhg;gpah;fs;   c. Mg;gphpf;fh;fs;  
d. M];jpNuypah;fs;  e. tpil njhpatpy;iy 
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21. The word ‘Secularism’ was added into the Preamble by the 42nd Constitutional 

Amendment Act of  
a. 1950 b. 1947 c. 1976  d. 1956 e. Answer not known 
rkar;rhh;gw;w vd;w thh;j;ij 42-tJ murpayikg;Gj; jpUj;jr;rl;lj;jpd; %yk; 
KfTiuapy; Nrh;f;fg;gl;l Mz;L  
a. 1950 b. 1947 c. 1976  d. 1956 e. tpil njhpatpy;iy 
 

22. Which Article and Part of the Constitution of India deals with loss of Indian 
Citizenship? 
a. Part III   b. Part II Article 5 – 11  c. Part II Article 5 – 6 
d. Part IV Article – 12 e. Answer not known 
,e;jpa murpay; mikg;Gr; rl;lj;jpd; ve;jg; gphpT kw;Wk; gphpTfs; FbAhpik ,oj;jy; 
gw;wpf; Fwpg;gpLfpd;wd? 
a. gphpT  III   
b. gphpT II murpay; mikg;G rl;lk; 5 Kjy; 11 tiu 
c. gphpT II murpay; mikg;G rl;lk; 5 Kjy; 6 tiu 
d. gphpT IV murpay; mikg;G rl;lk; - 12 
e. tpil njhpatpy;iy 
 

23. Choose the False Statement with respect to the qualification for the election of Indian 
President. 
a. He/She should be a citizen of India  
b. He/She must have completed the age of forty years 
c. He/she must not hold any office of Profit under the Union, State or Local 
Government  
d. He/She should have the other qualifications required to become a member of the 
Lok Sabha 
e. Answer not known 
jtwhdf; $w;wpidf; fhl;Lf. 
,e;jpaf; FbauRj; jiyth; Njh;jypy; Nghl;bapLtjw;fhd jFjpfs; 
a. ,e;jpa Fbkfdhf/Fbkfshf ,Ue;jy; Ntz;Lk; 
b. 40 taJ G+h;j;jp mile;jtuhf ,Ue;jy; Ntz;Lk; 
c. eLtz; murpNyh> khepy murpNyh> my;yJ cs;shl;rp mikg;GfspNyh Cjpak; 
ngWk; gjtpapy; ,Uj;jy; $lhJ 
d. kf;fsit cWg;gpduhtjw;fhd jFjpapidg; ngw;wpUj;jy; Ntz;Lk; 
e. tpil njhpatpy;iy 

 
24. Who said that “To Call Woman the weaker sex is a libel; it is man’s injustice to 

Woman”? 
a. Jawaharlal Nehru  b. Mahatma Gandhi  c. Swami Vivekanandar 
d. Savitribai Phule   e. Answer not known 
“ngz;fisg; gytPdkhf ghypdk; vd;W nrhy;tJ xU mtJ}W: mJ ngz; ,dj;jpw;F 
Mzpdk; ,iof;Fk; mePjpahFk;” vd;W $wpath; ahh;? 
a. [t`h;yhy; NeU  b. kfhj;kh fhe;jp  c. Rthkp tpNtfhde;jh; 
d. rhtpj;hpgha; G+Ny  e. tpil njhpatpy;iy 
 

25. Simplify: 20 +  8 2 6 3 10 5  +  − 
 

 

a. 44  b. 50  c. 52  d. 56  e. Answer not known 
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RUf;Ff: 20 +  8 2 6 3 10 5  +  − 
 

 

a. 44  b. 50  c. 52  d. 56  e. tpil njhpatpy;iy 
 

26. Find the HCF of 867 and 255  
a. 03  b. 51  c. 17  d. 255  e. Answer not known 
867 kw;Wk; 255d; kP.ngh.t fhz;f 
a. 03  b. 51  c. 17  d. 255  e. tpil njhpatpy;iy 
 

27. If m = 25   37   510 and n = 27   38   712. Find the HCF of m and n. 
a. 27   37    b. 25   38    c. 27   38    
d. 25   37    e. Answer not known  
25   37   510 kw;Wk; n = 27   38   712 vdpy; m kw;Wk; n d; kP.ngh.t. fhz;f. 
e. tpil njhpatpy;iy 
 

28. If 0.75: x :: 5 : 8 then x is  
a. 12  b. 1.2  c. 0.12  d. 120  e. Answer not known 
0.75: x :: 5 : 8 vdpy; x-d; kjpg;G 
a. 12  b. 1.2  c. 0.12  d. 120  e. tpil njhpatpy;iy 
 

29. If 3   x = 4 y then x : y is  
a. 4 : 3  b. 3 : 4  c. 9 : 12 d. 12 : 16 e. Answer not known 
3   x = 4 y vdpy; x : y =?  
a. 4 : 3  b. 3 : 4  c. 9 : 12 d. 12 : 16 e. tpil njhpatpy;iy 
 

30. Arun has paid Simple Interest on a certain sum for 3 years at 15% per annum is Rs. 450. 
Find the sum.  
a. 800  b. Rs. 900 c. 1,000 d. 2,000 e. Answer not known 
mUz; xU Fwpg;gpl;l njhiff;F 15% tl;b tPjk; 3 Mz;Lfs; fopj;J Rs 450 jdp 
tl;bahf nrYj;jpdhy;; mriyf; fhz;f.  
a. 800  b. Rs. 900 c. 1,000 d. 2,000 e. tpil njhpatpy;iy 
 

31. A principal becomes Rs. 2028 in 2 years at 4% p.a. compound interest. Find the 
principal. 
a. Rs. 160 b. Rs. 1875 c. Rs. 1900 d. Rs. 2000 e. Answer not known 
Xh; mryhdJ 2 Mz;Lfspy; Mz;Lf;F 4% $l;Ltl;bapy; Rs 2028 Mf MfpwJ vdpy; 
mriyf; fhz;f. 
a. Rs. 160 b. Rs. 1875 c. Rs. 1900 d. Rs. 2000 e. tpil njhpatpy;iy 
 

32. A man takes 15 days to finish a job whereas a woman takes 20 days to finish the dame 
job together they worked for 6 days and then the man left. In how many days will the 
woman complete the remaining job. 
a. 4  b. 6  c. 8  d. 10  e. Answer not known 
Xh; Ntiyia Kbf;f Xh; Mz; 15 ehl;fSk; Xh; ngz; 20 ehl;fSk; vLj;J 
nfhs;fpd;wdh;. ,UtUk; Nrh;e;J me;j Ntiyia 6 ehl;fs; nra;J gpwF me;j Mz; 
Ntiyia tpl;L nrd;W tpLfpwhh;. kPjKs;s Ntiyia me;j ngz; vj;jid ehl;fspy; 
Kbg;ghh;? 
a. 4  b. 6  c. 8  d. 10  e. tpil njhpatpy;iy 
 

33. A works 3 times as fast as B and is able to complete a task in 24 days less than the days 
taken by B. Find the time in which they can complete the work together. 
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a. 3 days  b. 9 days  c. 12 days  d. 24 days  e. Answer not known 
A Mdth; B I fhl;bYk; 3 klq;F Ntfkhf xU Ntiyia nra;J Kbg;ghh;. mtuhy; 
me;jg; gzpia B vLj;Jf; nfhz;l Neuj;ij tpl 24 ehl;fs; Fiwthf vLj;J Kbf;f 
KbfpwJ. ,UtUk; Nrh;e;J me;j Ntiyia Kbf;f MFk; Neuj;ij fhz;. 
a. 3 ehl;fs;    b. 9 ehl;fs;    c. 12 ehl;fs;   
d. 24 ehl;fs;    e. tpil njhpatpy;iy 
 

34. Probability of getting a job for a person is 
3

x
and the probability of not getting a job is 

,
5

x
then the value of x is  

a. 
8

15
  b. 

15

8
  c. 

3

5
  d. 

3

4
  e. Answer not known 

xU egUf;F Ntiy fpilg;gjw;fhd epfo;jfT 
3

x
, Ntiy fpilf;fhky; ,Ug;gjw;fhd 

epfo;jfT vdpy; x-d; kjpg;G 

a. 
8

15
  b. 

15

8
  c. 

3

5
  d. 

3

4
  e. tpil njhpatpy;iy 

 
35. Find the simple interest for Rs. 20,000 for 4 years at 10% p.a. 

a. Rs. 7,000  b. Rs. 8,000   c. Rs. 9,000  
d. Rs. 4,000  e. Answer not known 
Rs. 20>000f;F 10% tl;b tPjk; 4 Mz;LfSf;F fpilf;Fk; jdptl;b fhz;f. 
a. Rs. 7,000  b. Rs. 8,000   c. Rs. 9,000  
d. Rs. 4,000  e. tpil njhpatpy;iy 
 

36. Find the sum of 0.40 + 0.43 + 0.46 +…+1 
a. 14.7  b. 15.7  c. 16.7  d. 17.7  e. Answer not known 
0.40 + 0.43 + 0.46 +…+1 vd;w njhlhpd; $Ljy; fhz;f 
a. 14.7  b. 15.7  c. 16.7  d. 17.7  e. tpil njhpatpy;iy 
 

37. Find the least positive integer n such that 1 + 6 + 62 +…. +  6n > 5000 
a. n = 5 b. n = 4 c. n = 6 d. n = 7 e. Answer not known 
1 + 6 + 62 +…. +  6n > 5000 vd;wthW mikAk; kpfr;rpwpa kpif KO vz; n fhz;f. 
a. n = 5 b. n = 4 c. n = 6 d. n = 7 e. tpil njhpatpy;iy 
 

38. Swadeshi movement led by _________ in Tamilnadu. 
a. V.O.C.    b. V.V.S.   c. Vanjinathan  
d. Neelaganda Brahmachari e. Answer not known  
jkpo;ehl;by; RNjrp ,af;fk; _______ jiyikapy; eilngw;wJ. 
a. t.c.rp    b. t.Nt.R   c. thQ;rpehjd; 
d. ePyfz;l gpuk;kr;rhp  e. tpil njhpatpy;iy 
 

39. In which year was the Vernacular Press Act passed by Lord Lytton  
a. 1875 b. 1885 c. 1877  d. 1878 e. Answer not known 
tl;lhu nkhopg; gj;jphpf;if rl;lk;> ypl;ld; gpuGthy; ,aw;wg;gl;l Mz;L 
a. 1875 b. 1885 c. 1877  d. 1878 e. tpil njhpatpy;iy 
 

40. What is the name of Bhagatsingh’s Mother? 
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a. Lilavati    b. Vidyavati   c. Bhuvaneswari  
d. Lakshmi Kaur   e. Answer not known 
gfj;rpq;fpd; jhahh; ngah; 
a. yPyhtjp   b. tpj;ahtjp   c. GtNd];thp 
d. yl;Rkp fTh;  e. tpil njhpatpy;iy 
 

41. Which National Leader of India who died on 27 May 1964? 
a. B.R. Ambedkar  b. E.V. Ramasamy   c. Abulkalam Azad 
d. Jawaharlal Nehru e. Answer not known 
27 Nk> 1961 – y; ,we;j ,e;jpahtpd; Njrpaj; jiyth; ahh;? 
a. B.R mk;Ngj;fh;  b. E.V. uhkrhkp  c. mGy;fyhk; Mrhj; 
d. [t`h;yhy; NeU  e. tpil njhpatpy;iy 
 

42. Match the following; 
A. Dravidian Home   1. Maraimalai Adigal  
B. Thozhilalan   2. Rettaimalai Srinivasan  
C. Tani Tamil Iyakkam   3. Singaravelan  
D. Jeeviya Saritha Surukkam  4. Natesanar 
 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c.  4 2 1 3 
d.  2 1 3 4 
e. Answer not known 
nghUj;Jf. 
A. jpuhtplh; ,y;yk;  1. kiwkiyabfs; 
B. njhopyhsd;  2. ,ul;ilkiy rPdpthrd; 
C. njhopyhsd;  3. rpq;fhu Ntyh; 
D. jdpj;jkpo; ,af;fk; 4. eNlrdhh; 

A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c.  4 2 1 3 
d.  2 1 3 4 
e. tpil njhpatpy;iy 
 

43. What is the most sweetest thing that makes men happy? From the Kural “Mannuyirk 
Kellam Inidhu”? 
a. Benefits a father confers on his son  
b. Benefits a son confers to his parents  
c. Knowing that the progeny excels them in knowledge 
d. Hearing the son as great Hero 
e. Answer not known 
kd;Daph;f;F vy;yhk; ,dpJ vJ? 
a. je;ij kfw;fhw;Wk; ed;wp  b. kfd; je;ijf;F Mw;Wk; cjtp 
c. jk;kpd; jk;kf;fs; mwpTilik  d. jd; kfid khtPud; vdf; Nfl;ly; 
e. tpil njhpatpy;iy 

 
44. What is compared to the herbal tree grown at the center of a home town in the ‘Kural’? 



 

9 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

a. Knowledgeable person  b. Generous Man   c. Noble Person 
d. King     e. Answer not known 
Chpd; eLNt tsh;e;J kUe;jhFk; kuj;ij ts;Sth; ahNuhL xg;gpLfpwhh;? 
a. mwpTilNahh;   b. ngUe;jifahh;  c. rhd;Nwhh; 
d. murh;    e. tpil njhpatpy;iy 
 

45. Which of the following pairs is not correct? 
i. Ilanjetchenni  - Chenguttuvan  
ii. Mangulam   - Tamil Brahmi inscription 
iii. Uruttirankannanar - Pattinappalai 
iv. Velir Chieftains   - Thirthiyan 
a. i only  b. ii only  c. iii only d. iv only e. Answer not known 
fPo;f;fz;ltw;wpy; ve;j ,iz jtwhdJ? 
i. ,sQ;Nrl;nrd;dp  - nrq;Fl;Ltd; 
ii. khq;Fsk;   - jkpo; gpuhkp fy;ntl;L 
iii. cUj;jpuq;fz;zdhh; - gl;bdg;ghiy 
iv. Ntsph;Fy rpw;wurh; - jpjpad;  
a. i kl;Lk; b. ii kl;Lk; c. iii kl;Lk; d. iv kl;Lk;  e. tpil njhpatpy;iy 
 

46. Name the major tribal revolt took place in Chotanagpur region.  
a. Wahhabi Rebellion  b. Santhal Hool   c. Kol Revolt 
d. Munda Rebellion  e. Answer not known 
Nrhl;lh ehf;G+h; gFjpapy; ele;j kpfg;nghpa goq;Fbapdh; fpsh;r;rp 
a. t`hap fpsh;r;rp  b. rhe;jyh;fspd; fpsh;r;rp  c. Nfhy; fpsh;r;rp 
d. Kz;lh fpsh;r;rp  e. tpil njhpatpy;iy 
 

47. Where was Captain Lakshmi Sehgal born? 
a. Chennai    b. Calcutta    c. Tanjavur  
d. Singapore   e. Answer not known 
Nfg;ld; yl;Rkp nrfy; vq;F gpwe;jth;? 
a. nrd;id   b. fy;fj;jh   c. jQ;rhT+h; 
d. rpq;fg;G+h;   e. tpil njhpatpy;iy 
 

48. What according to Valluvar is the way that will not destroy one, s own wealth? 
a. Avoid theft  b. Being free from covetousness   c. Shun falsehood  
d. Be unfriendly  e. Answer not known 
xUtUila nry;tk; Fiwahky; ,Uf;f ts;Sth; $Wk; top ahJ? 
a. fsT nra;ahik  b. gpwh; nghUs; tpUk;ghik  c. ngha; nrhy;yhik 
d. el;G ghuhl;lhik  e. tpil njhpatpy;iy 
 

49. Which statement is true about the practice of Sati? 
i. Raja Ram Mohan Roy took the oath to abolish the Sati. 
ii. He helped William Bentinck to abolish this practice. 
iii. The practice of Sati a punishable offence was declared in 1829. 
a. Only I   b. Only ii   c. Only iii 
d. i, ii and iii   e. Answer not known 

rjp eilKiw gw;wpa rhpahd $w;wpid/$w;Wfisj; Njh;e;njLf;fTk; 
i. uh[h uhk; Nkhfd; uha; ,e;j rjp vDk; eilKiwia xopf;f cWjpnkhop vLj;jhh; 
ii. ,e;j eilKiwia xopf;f tpy;ypak; ngz;bf;-fpw;F cjtpdhh; 
iii. rjp gof;fk; jz;lidf;Fhpa Fw;wkhf 1829,y; mwptpf;fg;gl;lJ. 
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a. i kl;Lk;   b. ii kl;Lk;    c. iii kl;Lk; 
d. i> ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

50. The Government of Tamil Nadu announced that 2713 Government _______ will get hi-
tech computer labs. 
a. Primary Schools    b. Middle Schools   c. Secondary Schools 
d. Higher Secondary Schools e. Answer not known 
2713 muR __________ fSf;F cah;ju fzpdp Ma;tfq;fs; toq;fg;gLk; vd jkpo;ehL 
muR mwptpj;Js;sJ. 
a. Muk;gg; gs;sp   b. eLepiyg; gs;sp  c. Nky;epiyg; gs;sp 
d. cah;epiyg; gs;sp  e. tpil njhpatpy;iy 
 

51. Choose the wrong statement about Education Policy in the British Rule. 
i Divided into 4 periods 
ii Commenced with Sir Charles Wood’s Despatch in 1845. 
iii It is also called “Magna Carta”. 
a. Only I  b. Only ii   c. Only i and ii 
d. Only iii  e. Answer not known  
Mq;fpNyah; Ml;rpapy; fy;tpf; nfhs;if gw;wpa jtwhd $w;wpidj; Njh;e;njLf;fTk;. 
i. ehd;F fhyq;fshf gphpf;fg;gl;Ls;sJ. 
ii. 1845,y; rh; rhh;y]; T+l; nl];Ngl;r; njhlq;fg;gl;lJ 
iii. ,J khf;dh fhh;l;lh vd;Wk; miof;fg;gLfpwJ 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. iii kl;Lk;   e. tpil njhpatpy;iy 
 

52. Which of the following is wrong Statement? 
i Tamil Nadu stands second in area and production of coffee next to Karnataka. 
ii Coffee plants are grown only in the hills of Western Ghats. 
iii Tamil Nadu ranks second in area and production of Tea in India next to Assam. 
a. i only  b. ii only  c. i and ii only  d. i and iiii e. Answer not known  
fPo;fz;ltw;Ws; jtwhd $w;wpid Fwpg;gpLf. 
i. fhgp cw;gj;jpapy; mjd; gug;gstpy; fh;ehlhf khepyj;jpw;F mLj;J jkpo;ehL 
,uz;lhkplk; tfpf;fpwJ. 
ii. Nkw;F njhlh;r;rp kiyfspy; kl;Lk; fhgp gaphplg;gLfpwJ 
iii. Njapiy gaphpLk; gug;G kw;Wk; cw;gj;jpapy; ,e;jpahtpy; mrhk; khepyj;jpw;F 
mLj;jg;gbahf jkpo;ehL ,uz;lhkplk; tfpf;fpwJ 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. i kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 

 
53. Choose the incorrect statement about the strengths of Indian Economy. 

a. India has a mixed economy  b. Industries plays the key role 
c.  India has a fast growing economy d. Fast growing service sector  
e. Answer not known 
,e;jpag; nghUshjhuj;jpd; gyq;fs; vd;w jiyg;gpy; nghUe;jhj thf;fpaj;ij Njh;e;njL. 
a. ,e;jpah xU fyg;G nghUshjhuk;   
b. njhopw;Jiw Kf;fpa gq;F tfpf;fpwJ 
c. ,e;jpah Ntfkhf tsUk; nghUshjhuj;ij nfhz;Ls;sJ 
d. Ntfkhf tsUk; Nrit Jiw 
e. tpil njhpatpy;iy 
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54. The Current Employment trends are  
i Three has been a growth in part-time employment  
ii Increasing self-employment 
iii Full employment 
iv Firms using fewer full-time employees and tending to offer more short-term 
contracts 
a. i, ii, iv only   b. ii, iii, iv only  c. i, ii, iii only 

d. I, iii, iv only  e. Answer not known 
jw;fhy Ntiytha;g;G Nghf;Ffshtd 
i. gFjp Neu Ntiytha;g;gpy; xU tsh;r;rp ,Ue;J tUfpwJ 
ii. mjpfhpj;J tUk; Ra – Ntiytha;g;G 
iii. KO Ntiy tha;g;G epiy 
iv. epWtdq;fs; xU rpy epue;ju Copah;fisNa gad;gLj;Jjy; kw;Wk; FWfpa fhy 
xg;ge;jg; gzpfis jUtJk;. 
a. i> ii> iv kl;Lk;   b. ii> iii> iv kl;;Lk;  c. i> ii> iii kl;Lk;  
d. i> iii> iv kl;Lk;    e. tpil njhpatpy;iy 
 

55. The Causative Organism Bordetella Pertussis affecting the respiratory tract causes 
______ disease. 
a. Diphtheria   b. Tuberculosis  c. Polio Myelitis   
d. Whooping Cough e. Answer not known 
Neha;f; fhuzpahd Nghh;nlnly;yh ngh;Lrp]; Rthrf; Foha; gFjpia ghjpj;J 
__________ Nehia Vw;gLj;JfpwJ. 
a. njhz;il mow;rp Neha;  b. fhrNeha;   c. NghypNah ikypb]; 
d. ff;Fthd; ,Uky;   e. tpil njhpatpy;iy 
 

56. Among the following animals, whose saliva contains the bio-chemical substance used 
for the preparation of pharmaceutical drugs that can treat hypertension. 
a. Oryctolagus Cuniculus   b. Calotes Versicolor c. Rana Hexadactyla 
d. Hirudin aria granulosa  e. Answer not known 
fPo;f;fhZk; tpyq;Ffspy; ckpo;ePhpy; cs;s Ntjpg; nghUshdJ ,uj;j mOj;jj;ijf; 
Fiwf;Fk; kUe;Jfs; jahhpf;fg; gad;gLfpd;wd. 
a. Xhpf;NlhNyf]; fpA+dpFy];  b. fhNyhl;]; nthp]pNfhyh;  
c. uhdh nthp]pNfhyh;   d. `pUbNdhpah fpuhDNyhrh 
e. tpil njhpatpy;iy 
 

57. __________ converts the light rays into impulses and sends the signals to the brain 
through the optic nerve. 
a. Retina    b. Cornea    c. Sclera   
d. Lens   e. Answer not known 
________ xspf;fjph;fis kpd;J}z;ly;fshf khw;wp mtw;iwg; ghh;it euk;gpd; topahf 
%isf;F mDg;Gk; gzpfisr; nra;fpd;wJ.  
a. tpopj;jpiu   b. fhh;dpah   c. ];fpspuh 
d. nyd;R   e. tpil njhpatpy;iy 
 

58. Cane Sugar is made up of three elements __________ , __________ and ________ 
a. Carbon, Nitrogen and Oxygen   b. Carbon, Hydrogen and Oxygen 
c. Carbon, Calcium and Oxygen   d. Carbon, Hydrogen and Iron  
e. Answer not known  
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fUk;G rh;f;fiuahdJ _______> _______ kw;Wk; _______ Mfpa %d;W jdpkq;fshy; 
MdJ.  
a. fhh;gd;> iel;u[d; kw;Wk; Mf;rp[d; b. fhh;gd;> i`l;u[d; kw;Wk; Mf;rp[d; 
c. fhh;gd;> fhy;rpak; kw;Wk; Mf;rp[d; d. fhh;gd;> i`l;u[d; ,Uk;G 
e. tpil njhpatpy;iy 

 
59. Match the following measuring instruments with the physical quantities they can 

measure: 
A. Hydrometer  1. density of sugar in liquid  
B. Saccharometer  2. levels of alcohol in spirit 
C. Lactometer  3. relative density of liquid  
D. Alcoholometer  4. creaminess of milk 
 A B C  D 
a.  1 2 3 4 
b.  3 4 1 2 
c.  3 1 4 2 
d.  1 3 4 2 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s. mwtpLk; fUtpfis mJ mstplf;$ba ,aw;gpay; gz;GfSld; 
nghUj;Jf. 
A. i`l;Nuhkhdp  1. rh;f;fiuapd; mlh;j;jp 
B. rhf;fNuhkhdp  2. rhuhaj;jpd; mlh;j;jp 
C. yhf;Nlhkhdp  3. jputj;jpd; xg;glh;j;jp 
D. kJkhdp   4. ghypd; mlh;j;jp 

A B C  D 
a.  1 2 3 4 
b.  3 4 1 2 
c.  3 1 4 2 
d.  1 3 4 2 
e. tpil njhpatpy;iy 

 
60. Match the following: 

A. Karakoram pass  1. Himachal Pradesh 
B. Zojila pass   2. Sikkim 
C. Bamdila pass  3. Jammu and Kashmir 
D. Nathula pass  4. Arunachal Pradesh 
 A B C D 
a.  3 1 4 2 
B.  4 3 2 1 
C.  3 4 1 2 
D.  2 1 4 3 
E. Answer not known 
nghUj;Jf. 
A. fhuNfhuk; fztha;  1. ,khr;ry gpuNjrk; 
B. N[h~pyh fztha;  2. rpf;fpk; 
C. nghkpbyh fztha;  3. [k;K-fh~;kPh; 
D. ehJyh fztha;   4. mUzhr;rygpuNjrk; 

A B C D 
a.  3 1 4 2 
B.  4 3 2 1 
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C.  3 4 1 2 
D.  2 1 4 3 
e. tpil njhpatpy;iy 
 

61. The British era bridge which collapsed in Morbi district is situated in which State? 
a. Haryana   b. Karnataka    c. Gujarat    
d. Madhya Pradesh  e. Answer not known 
nkhh;gp khtl;lj;jpy; ,be;J tpOe;j Mq;fpNyah; fhy ghyk; ve;j khepyj;jpy; 
mike;Js;sJ? 
a. `hpahdh   b. fh;ehlfh   c. F[uhj; 
d. kj;jpa gpuNjrk;  e. tpil njhpatpy;iy 
 

62. The erstwhile Mid-Day Meal Scheme is renamed as  
a. UMANG    b. Bhavishya   c. POSCO 
d. PM-POSHAN  e. Answer not known 
Ke;ija kjpa czT jpl;lj;jpd; kW ngah; ahJ? 
a. ckhq;   b. gtp~;a   c. Ngh];Nfh 
d. PM – Ngh~d; 
e. tpil njhpatpy;iy 
  

63. Which among the 2022 Nobel laureates of Physics demonstrated quantum 
teleportation? 
a. Alain Aspect  b. John Clauser   c. Anton Zeilinger 

d. Didier Queloz  e. Answer not known 
2022 Nehgy; ghprpid ,aw;gpaYf;fhf ntd;wth;fspd; ‘Fthz;lk; njhiyj;jhq;F 
eilKiwia’ nra;J fhl;bath; ahh;? 
a. miyd; MRngf;l; b. rhd; fpsTrh;  c. md;ld; irypq;fh; 
d. jpjpNa NfNyh  e. tpil njhpatpy;iy 
 

64. Assertion A: The Arabian Sea branch of South West monsoon gives Heavy rainfall to 
the West Coast of India. 
Reason R: It is located in the windward side of the West ernghats. 
a. (A) is true but (R) is false 
b. (A) is false, (R) is true 
c. Both (A) and (R) are true; and (R) is the correct explanation of (A) 
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): njd;Nkw;F gUtf; fhw;wpd; mugpf;fly; fpisapdhy; ,e;jpahtpd; Nkw;F 
flNyhu gFjpfs; mjpf kioia ngWfpd;wd. 
fhuzk; (R): ,e;j gFjpfs; Nkw;F njhlh;r;rp kiyfspd; fhw;W tPRk; jpirapy; 
mike;Js;sd. 
a. (A) vd;gJ rhp Mdhy; (R) vd;gJ jtW 
b. (A) vd;gJ jtW> (R) vd;gJ rhp 
c. (A) kw;Wk; (R) ,uz;Lk; rhp fhuzk; (R) $w;W (A) I tpsf;FfpwJ 
d. (A) kw;Wk; (R) ,uz;Lk; rhp fhuzk; (R) $w;Wf;fhd (A) rhpahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
 

65. Which of the following Wild Life Sanctuary is located at Tirunelveli District? 
a. Mudumalai Wildlife Sanctuary  b. Mundanthurai Wildlife Sanctuary 
c. Indira Gandhi Wildlife Sanctuary d. Point Calimere Wildlife Sanctuary 
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e. Answer not known 
gpd;tUtdtw;Ws; ve;j tdtpyq;F ruzhyak; jpUney;Ntyp khtl;lj;jpy; 
mike;Js;sJ? 
a. KJkiy tdtpyq;F ruzhyak; b. Kz;le;Jiw tdtpyq;F ruzhyak; 
c. ,e;jpuhfhe;jp tdtpyq;F ruzhyak; d. Nfhbaf;fiu tdtpyq;F ruzhyak; 
e. tpil njhpatpy;iy 
 

66. India is the ____________ largest producer of Coffee globally. 
a. 2nd   b. 4th   c. 7th   d. 9th   e. Answer not known 
cyf fhgp cw;gj;jpay; ,e;jpah _________ MtJ ,lj;ij tfpf;fpwJ. 
e. tpil njhpatpy;iy 
 

67. Choose and Match the correct answer: 
 Author    Literary Works 
A. Dhanvantri   1. Surya Siddantha 
B. Varahamihira   2. Amara Kosha 
C. Aryabhatta   3. Brihad Samhita 
D. Amarasimha   4. Ayurveda 
 A B C D 
a.  4 3 1 2 
b. 4 1 2 3 
c. 4 2 1 3 
d.  4 3 2 1 
e. Answer not known 
nghUj;jp tpil jUf. 
vOjpath;   ,yf;fpag;gilg;G 
A. jd;te;jphp   1. #h;a rpj;jhe;jh 
B. tuh`kpfpuh  2. mkuNfh~h 
C. Mh;agl;lh;   3. gpU`j; rk;`pjh 
D. mkurpk;kh   4. MAh;Ntjh 

A B C D 
a.  4 3 1 2 
b. 4 1 2 3 
c. 4 2 1 3 
d.  4 3 2 1 
e. tpil njhpatpy;iy 

 
68. ____________ was the Jain name of Appar. 

a. Dharmasena   b. Harisena   c. Theerthankara 
d. Sivagnana Sithiyar  e. Answer not known 
mg;ghpd; rkz kjj;jpd; ngah; 
a. jh;kNrdh;   b. mhpNrdh   c. jpHj;jq;fuh; 
d. rptQhd rpj;jpahh; e. tpil njhpatpy;iy 
 

69. ‘SATRIYA’ dance was famous in  
a. Manipur   b. Kashmir   c. Assam    
d. Odissha   e. Answer not known 
‘rj;jpah’ eldk; ve;j khepyj;jpy; Gfo;ngw;wJ 
a. kzpg;G+h;   b. fh~;kPh;   c. mrhk; 
d. xbrh   e. tpil njhpatpy;iy 
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70. Which of the following statements are correct About Dr. Sachchidananda Sinha? 

i. He was the oldest member elected as the temporary President of the Assembly. 
ii. He was, elected as the Vice-President of the Assembly 
iii. He was elected as the President of the Assembly. 
a. i only   b. i and iii only   c. i and ii only 

d. ii and iii only  e. Answer not known 
rr;rpjhde;j rpd;fhit gw;wpa rhpahd $w;wpid Njh;e;njLf;fTk;  
i. mth; ,r;rigapd; %j;j cWg;gpduhf jw;fhypf jiytuhf Njh;e;njLf;fg;gl;lhh;. 
ii. mth; ,r;rigapd; Jiz jiytuhf Njh;e;njLf;fg;gl;lhh; 
iii. mth; ,r;rigapd; jiytuhf Njh;e;njLf;fg;gl;lhh; 
a. i kl;Lk;   b. i kw;Wk; iii kl;Lk;  c. i kw;Wk; ii kl;Lk; 
d. ii kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 
 

71. Which does not take relationship between the Centre and the States are? 
a. Legislative relations  b. Administrative relations 
c. Financial relations  d. Public relations 
e. Answer not known 
vt;tifahd cwT kj;jpa khepy muRfSf;F ,ilNa ,y;iy 
a. rl;lkd;w cwTfs;  b. eph;thf cwTfs;  c. epjp cwTfs; 
d. nghJtif cwTfs;  e. tpil njhpatpy;iy 
 

72. Who among the following decides whether a bill is a money Bill or not? 
a. Speaker of Lok sabha   b. Attorney General  
c. Parliament Affairs Minister  d. Finance Secretary 
e. Answer not known 
fPo;f;fz;ltw;Ws; xU kNrhjhit epjp kNrhjhth my;yJ ,ju kNrhjhth vd 
jPh;khdpf;Fk; mjpfhuk; nfhz;lth; 
a. kf;fsit rghehafh;   b. ,e;jpa murpd; jiyik tof;FiuQh; 
c. ehlhSkd;w tptfhu mikr;rh;  d. ePjpj;Jiw nrayh; 
e. tpil njhpatpy;iy 
 

73. Write the equivalent fraction of 
1

6 %
4

? 

a. 
1

8
  b. 

1

12
  c. 

1

16
  d. 

1

18
  e. Answer not known 

1
6 %

4
 I rkkhd gpd;d tbtj;jpy; vOJf. 

a. 
1

8
  b. 

1

12
  c. 

1

16
  d. 

1

18
  e. tpil njhpatpy;iy 

 
74. Find the single discount in percentage which is equivalent to two successive discounts 

of 25% and 20% given on an article? 
a. 55%  b. 60%  c. 75%  d. 40% e. Answer not known 
xU nghUspd; kPJ toq;fg;gLk; ,U njhlh; js;Sgbfs; KiwNa 25% kw;Wk; 20% 
vdpy; ,jw;F epfuhd xNu rkhdj; js;Sgbr; rjtPjj;jpidf; fhz;f. 
a. 55%  b. 60%  c. 75%  d. 40% e. tpil njhpatpy;iy 
 

75. Find the LCM of 156 and 124  
a. 4326 b. 4386 c. 4826  d. 4836 e. Answer not known 
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156 kw;Wk; 124 f;F kPr;rpW nghJklq;F fhz; 
a. 4326 b. 4386 c. 4826  d. 4836 e. tpil njhpatpy;iy 
 

76. Find the L.C.M of the pair a2 + 4a – 12 and a2 – 5a + 6 whose GCD is a – 2 
a. (a + 6) (a – 2) (a – 3)  b. (a – 6) (a + 2) (a – 3)  c. (a + 6) (a + 2) (a + 3) 
d. (a – 6) (a – 2) (a – 3)  e. Answer not known 
a2 + 4a – 12, a2 – 5a + 6 Mfpatw;wpd; kP.ngh.t. a – 2 vdpy; kP.ngh.k. fhz;f 
a. (a + 6) (a – 2) (a – 3)  b. (a – 6) (a + 2) (a – 3)  c. (a + 6) (a + 2) (a + 3) 
d. (a – 6) (a – 2) (a – 3)  e. tpil njhpatpy;iy 
 

77. If the ratio of Green, Yellow and Black balls in a bag is 4 : 3 : 5, then if there are 40 black 
balls in it, then the total number of balls is  
a. 72 balls b. 84 balls  c. 96 balls d. 108 balls  e. Answer not known 
xU igapy; cs;s gr;ir> kQ;rs; kw;Wk; fUg;Gg; ge;Jfspd; tpfpjk; 4:3:5 MFk;. 
mg;igapy; fUg;Gg; ge;Jfspd; vz;zpf;if 40 vdpy;> nkhj;jg; ge;Jfspd; vz;zpf;if 
a. 72 ge;Jfs;  b. 84 ge;Jfs;  c. 96 ge;Jfs; 
d. 108 ge;Jfs;  e. tpil njhpatpy;iy 

 
78. A bank pays Rs. 240 as interest for 2 years for a sum of Rs. 3000 deposited as savings. 

Find the rate of interest given by the bank. 
a. 3%  b. 4%  c. 5%  d. 6%  e. Answer not known 
xU tq;fpahdJ Nrkpg;G njhifahf itf;fg;gl;l Rs. 3>000f;F 2 Mz;LfSf;F RS. 
240I jdp tl;bahf toq;FfpwJ vdpy; mt;tq;fp toq;Fk; tl;b tPjj;ijf; fhz;f.  
a. 3%  b. 4%  c. 5%  d. 6%  e. tpil njhpatpy;iy 
 

79. The bacteria in a culture grows by 5% in the first hour decreases by 8% in the second 
hour and again increases by 10% in the third hour. Find the count of the bacteria at the 
end of 3 hours if its initial count was 10,000. 
a. 10,700 b. 10,800 c. 10,376 d. 10,626 e. Answer not known 
xU tifahd ghf;Bhpah> KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> ,uz;lhtJ 
kzp Neuj;jpy; 8% tsh;r;rpf; Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 10% tsh;r;rpAk; 
milfpwJ. njhlf;fj;jpy; mjd; vz;zpf;if 10>000 Mf ,Ue;jJ vdpy;> %d;W kzp 
Neuj;jpw;Fg; gpwF mjd; vz;zpf;ifiaf; fhz;f. 
a. 10,700 b. 10,800 c. 10,376 d. 10,626 e. tpil njhpatpy;iy 
 

80.  If the total surface area of a cone of radius 7 cm is 704 cm2, then find its slant height. 
a. 32 cm  b. 23 cm c. 25 cm  d. 52 cm e. Answer not known 
704 r.nrkP nkhj;jg; Gwg;gug;G nfhz;l xU $k;gpd; Muk; 7 nrkP vdpy; rhTauk; fhz;f. 
a. 32 cm  b. 23 cm c. 25 cm  d. 52 cm  e. tpil njhpatpy;iy 
 

81. Find the lateral surface area of a cube of side 12 cm.  
a. 144 cm2 b. 196 cm2 c. 576 cm2 d. 664 cm2 e. Answer not known 
12 nr.kP gf;f msTs;s xU fdr;rJuj;jpd; gf;fk; gug;G fhz;f. 
a. 144 nr.kP2 b. 196 nr.kP2 c. 576 nr.kP2 d. 664 nr.kP2 e. tpil njhpatpy;iy 
 

82. If ‘-‘means ‘multiplied by’ 
‘x’ means ‘plus’ 
‘+’ means ‘divided by’ 
and ‘ ’ means ‘minus’ 
then find the value of  
14 – 10   4   16 + 8  
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a. 6  b. 142  c. 134  d. –2   e. Answer not known 
‘fopj;jy;’ Fwpia ngUf;fyhfTk; 
‘ngUf;fy;’ Fwpia $l;lyhfTk; 
‘$l;ly;’ Fwpia tFj;jyhfTk; 
‘tFj;jy;’ Fwpia fopj;jyhfTk; nfhz;lhy; 
kjpg;G fhz;: 14 – 10   4   16 + 8  
a. 6  b. 142  c. 134  d. –2   e. tpil njhpatpy;iy 
 

83. Which colour is in opposite to the plane having blue colour? 
 

 
a. Yellow  b. Purple c. Orange  d. Green  e. Answer not known  
ePy epwj;jpd; vjph;jsk; ve;j epwj;jpy; ,Uf;Fk;? 

 
a. kQ;rs; b. Cjh c. MuQ;R  d. gr;ir e. tpil njhpatpy;iy 
 

84. Find the sum of 2 + 4 + 6 +…+80 
a. 820  b. 1620 c. 1640  d. 1660 e. Answer not known 
$Ljy; fhz;f 2 + 4 + 6 +…+80 
a. 820  b. 1620 c. 1640  d. 1660 e. tpil njhpatpy;iy 
 

85. Assertion and Reason Type: 
Assertion (A) : Pulithevar tried to get the support of Hyder Ali and the French. 
Resason (R) : Hyder Ali could not help Pulithevar as he was already in a serious 
conflict with the Marathas. 
a. Both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
b. Both (A) and (R) are wrong 
c. Both (A) and (R) are correct and (R) is the correct explanation of (A) 
d. (A) is wrong and (R) is correct  
e. Answer not known 
rhpahd $w;iwj; Njh;T nra;f. 
$w;W (A): Gypj;Njth;> i`jh; myp kw;Wk; njhlh; Nghh;fspy; <Lgl;Lf; ngw Kad;whh;. 
fhuzk; (R): kuhj;jpah;fNshL Vw;fdNt njhlh; Nghh;fspy; <Lgl;Lf; nfhz;bUe;jjhy; 
i`jh; mypahy; Gypj;NjtUf;F cjtKbahky; NghdJ. 
a. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp vdpDk; fhuzk; (R) $w;W (A) f;fhd 
rhpahd tpsf;fk; ,y;iy 
b. $w;W (A) kw;Wk; fhuzk; (R) Mfpa ,uz;LNk jtwhdit 
c. $w;W (A) kw;Wk; fhuzk; (R) Mfpait rhp> fhuzk; $w;W (A) it rhpahfNt 
tpsf;FfpwJ 
d. $w;W (A) jtwhdJ fhuzk; (R) rhpahdJ  
e. tpil njhpatpy;iy 
 

86. Assertion (A): Gandhiji opposed the ‘Communal Award’ of Ramsay Macdonald, 
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Reason (R):  To get Dominion status from the British. 
a. Both (A) and (R) are correct  
b. (A) is wrong but (R) is correct  
c. (A) is correct but (R) is wrong 
d. Both (A) and (R) are correct and (R) is the correct explanation 
e. Answer not known 
$w;W (A): uhk;Nr Nkf;Nlhdhy;l; toq;fpa tFg;Gthhp xJf;fPil fhe;jpabfs; 
vjph;j;jhh; 
fhuzk; (R): nlhkpdpad; me;j];ij Mq;fpNyah;fsplk; ,Ue;J ngWtjw;fhf. 
a. $w;W (A)  kw;Wk; fhuzk; (R) ,uz;Lk; rhp 
b. $w;W (A)  jtW Mdhy; fhuzk; (R) rhpahdJ 
c. $w;W (A)  rhp Mdhy; fhuzk; (R) jtwhdJ 
d. $w;W (A) kw;Wk; fhuzk; (R) ,uz;LNk rhp Mdhy; fhuzk; (R) rhpahd 
tpsf;fkhFk; 
e. tpil njhpatpy;iy 
 

87. Name the Tamil Book was published in Goa in the year 1578. 
a. Viracholiyam  b. Ilakkana Vilakkam  c. Thambiran Vanakkam  
d. Tolkappiyam   e. Answer not known 
1578 ,y; Nfhthtpy; ntspaplg;gl;l jkpo; Gj;jfj;jpd; ngah; $Wf. 
a. tPuNrhopak;  b. ,yf;fz tpsf;fk; c. jk;gpuhd; tzf;fk; 
d. njhy;fhg;gpak;  e. tpil njhpatpy;iy 
 

88. To whom does Valluvar compare the wrong doing ascetics? 
a. Actor   b. Fradulent    c. Sinner  
d. Hunter    e. Answer not known 
jfhj nray;fspy; <LgLk; jtf;Nfhyj;jpy; cs;sth;fis ts;Sth; ahUld; xg;gpLfpwhh;? 
a. ebfh;   b. tQ;rfh;   c. ghtp 
d. Ntl;Lth;   e. tpil njhpatpy;iy 
 

89. What is compared by Valluvar to the sweet music of Veena (Yaazh)? 
a. Child’s Babble  b. Parrot’s speech  c. Beloved’s words 

d. Post’s words             e. Answer not known 
ahiotpl ,dpikahdJ vd;W ts;Sth; vjid xg;gpLfpwhh;? 
a. koiyr; nrhy;  b. fpspapd; nrhy;  c. fhjyp nrhy; 
d. ftpQh; nrhy;  e. tpil njhpatpy;iy 
 

90. One who possess these are considered as lion among Kings 
i Army, Subjects, Wealth 
ii Ministers, Allies, Fort 
iii Fearlessness, Charity and Education 
a. i alone is correct   b. i and ii are correct  c. i and iii are correct  
d. iii alone is correct  e. Answer not known 
vtw;iw cilath; Ms;gthpy; VW Nghd;wth;? 
i. gil> Fb> $o; 
ii. mikr;R> el;G> muz; 
iii. mQ;rhik> <if> fy;tp 
a. i kl;Lk;   b. i kw;Wk; ii kl;Lk;  c. i kw;Wk; iii kl;Lk; 
d. iii kl;Lk;   e. tpil njhpatpy;iy 
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91. What are the three things to be shunned in order to dispel pain and sorrow? 
a. Lust, Wrath and Delusion   b. Knowledge, Love, Affection 

c. Fear, Shyness, Blindness    d. Happiness, Wrath, Sorrow 
e. Answer not known 
‘ehkk; nflf; nfLNeha;’ vd;W ts;Sth; vtw;iwf; Fwpg;gpLfpd;whh;? 
a. fhkk;> ntFsp> kaf;fk;   b. mwpT> md;G> ghrk; 
c. mr;rk;> ehzk;> klk;   d. ctif> ntFsp> mOif 
e. tpil njhpatpy;iy 
 

92. Ettuthogai and Pathupattu are the collection of _______ poems. 
a. 2400 b. 3400 c. 4400  d. 5400 e. Answer not known 
vl;Lj;njhifAk;> gj;Jg;ghl;Lk; Vwj;jho _______ ghly;fisf; nfhz;l ,yf;fpa 
fUT+ykhFk;. 
a. 2400 b. 3400 c. 4400  d. 5400 e. tpil njhpatpy;iy 
 

93. “Better bullock carts and freedom than a train de luxe with subjection”. Who said this? 
a. S. Satyamurthy   b. A. Subbarayalu  c. Annie Beasant 
d. Rukmani Lakshmipathi  e. Answer not known 
“mjpetPd trjpfSld; $ba uapypy; mbikfshf ,Ug;gijtpl Rje;jpuj;Jld; $ba 
khl;L tz;bNa rpwe;jJ” vd $wpath; 
a. S. rj;jpa%h;j;jp   b. A. Rg;guhaY  c. md;dp ngrd;l; 
d. Uf;kzp yl;Rkpgjp  e. tpil njhpatpy;iy 
 

94. ____________ voiced the interest of the depressed clauses in the Round Table 
Conferences. 
a. T.M. Nair    b. Rettaimali Srinivasan   c. M.C. Rajah 
d. Pandithar Iyothee Thassar e. Answer not known 
XLf;fg;gl;l kf;fspd; fUj;JfSf;fhf tl;lNki[ khehl;by; Fuy; nfhLj;jth; 
a. b.vk;. ehah;   b. ,ul;ilkiy rPdpthrd;  c. vk;.rp. uh[h 
d. gz;bjh; mNahj;jp jhrh;  e. tpil njhpatpy;iy 
 

95. The Sharda Act raised the minimum age marriageable for girls _________ years. 
a. 10  b. 12  c. 14  d. 18  e. Answer not known 
rhh;jh rl;lj;jpd; gb ngz;fspd; jpUkz taJ  
a. 10  b. 12  c. 14  d. 18  e. tpil njhpatpy;iy 
 

96. The universal declaration of Human Rights was proclaimed by the United Nations 
General Assembly in which place? 
a. Paris  b. Europe  c. U.S.A.  d. Canada  e. Answer not known  
cyfshtpa kdpj chpikfs; Nguwpf;ifahdJ If;fpa ehLfs; nghJ rigapdhy; 
jPh;khdk; epiwNtw;wg;gl;l ,lk; vJ? 
a. ghhp];   b. INuhg;gh   c. mnkhpf;fh 
d. fdhl   e. tpil njhpatpy;iy 
 

97. The Kavalam SOS App was launched by which Government? 
a. Government of India  b. Government of Tamil Nadu 
c. Government of Kerala  d. Government of Karnataka 
e. Answer not known 
fhtyd; v];xv]; nraypia ve;j muR mwpKfg;gLj;jpaJ? 
a. ,e;jpa muR  b. jkpo;ehL muR   c. Nfush muR 
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d. fh;ehlf muR  e. tpil njhpatpy;iy 
 

98. The quantum of Groundnut production in Tamil Nadu is  
a. About 7 lakh tonnes   b. About 11 lakh tonnes 

c. About 15 lakh tonnes    d. About 21 lakh tonnes 
e. Answer not known 
jkpo;ehl;by; epyf; fliy cw;gj;jpapd; msT vd;d? 
a. fpl;lj;jl;l 7 yl;rk; ld;fs;  b. fpl;lj;jl;l 11 yl;rk; ld;fs; 
c. fpl;lj;jl;l 15 yl;rk; ld;fs;  d. fpl;lj;jl;l 21 yl;rk; ld;fs; 
e. tpil njhpatpy;iy 
 

99. Tamil Nadu is the highest producer of  
a. Rice and Pulse   b. Banana and Coconuts  c. Coconut and Ragi 
d. Banana and Pulses e. Answer not known 
jkpo;ehl;by; mjpfk; cw;gj;jpahFk; nghUl;fs; 
a. muprp kw;Wk; gUg;G tiffs;  b. thio kw;Wk; Njq;fhs; 
c. Njq;fha; kw;Wk; uhfp   d. thio kw;Wk; gUg;G tiffs; 
e. tpil njhpatpy;iy 
 

100. Assertion (A): The Ahobila Mutt and Many others have made distinctive contribution 
to the cause of education. 
Reason (R):  The medieval period saw the founding of many religious mutt as the 
cause of education. 
a. (A) is true but (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is false, (R) is true 
d. Both (A) and (R) are true but (R) is not correct explanation of (A) 
e. Answer not known 
$w;W (A): mN`hgpyh klk; kw;Wk; gy klq;fs;> gs;spfs;> tp`huq;fs; fy;tpf;fhf 
jdpj;Jtkhd gq;fspg;igr; nra;Js;sd. 
fhuzk; (R): ,ilf;fhyk; gy kj klq;fSk;> klhyaq;fSk; fy;tp tsh;r;rpf;fhf 
epWtg;gl;lijf; fz;lJ. 
a. (A) rhp (R) jtW 
b. (A) kw;Wk; (R) rhp> (R)> (A) f;fhd rhpahd tpsf;fk; 
c. (A) kw;Wk; (R) rhp 
d. (A) kw;Wk; (R) rhp> (R)> (A) f;fhd rhpahd tpsf;fk; ,y;iy 
e. tpil njhpatpy;iy 

 
 
 


